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And 1" said:  — 3779 9P 1°T D92 511 SNDT 2OIW 5153 AN 1AM A7)
‘in the presence of two, for two are also called a 7'"'>2’.

OVERVIEW

Our mwn stated that originally (before 327177 2" napn) one would be able to be
Svan the v in the presence of a 1°7 n°2. It was not necessary to be 2021 the v
either m2wi *192 or AWK °192. The X713 quotes a NP1?M» between 111 27 and
nww 27 whether this 7"°2 must consist of three people, or that two people are
also sufficient. It would seem that since the mwn states clearly that it was
performed 72 °192 and a 7""2 consists of three people, that there should be
no dispute. All should agree that it must be 7ww °1932. Why does 1"
maintain that it may be 0°1¥ %192 contrary to what the 71wn says 72 %1927

mdoIN anticipates a possible solution (to the question stated in the ‘overview’):
= DRINYT N2NVYN (3,797 1PITNI0T NP P92 9INRT NPV 1IN 297 9017 PN

We cannot say that 1" follows his own opinion, where he stated in the
first pao of 17710 NOON, in the name of YRW, that —

= 17 007 NTY ONY
Two people who judged a case, their verdict is a valid judgment. That is
why 1"7 maintains here that two are considered a 7"°2, since 72¥°72 two people who tried a
case and issued a verdict, we accept their verdict as if it was issued by a regular 7"2 of
three. The m1wn, when it states 7"°2 may be referring to a 7"2 of two.

mooIN rejects this reasoning:
= INNYT (x5 97 ONN DD DY N2 NN

For X2 disagrees there with »X™mw that 7 om»7 wmw 2w, but rather Xan

maintains that 1172 21 it is not a valid judgment. Three 017 are required for a 7"2.
= DV 93 9INT JINI 395 NIN NPY MN X2 THYD b

And perforce you must say that 829 agrees here with 1'% who says you

may be 7v2an the v3 in the presence of only two people.

moo1n will now explain why X217 must agree with 1" —
= HYY 29 19N) 397 XNNYO2 1IN0 WIPY W) 1IN 229 9009 NIT

For shortly in the X1n3 there is a dispute between "1 and '>" which is

''X,39 77. They are arguing why 3" stopped the 7"*2 *192 "2, *"3 who maintains that it is because npn
o°1in follows the opinion of 1"7 that 0°1w 192 19v3; while "3 who maintains My miapn 191 follows the
opinion of w'" that Tw5w *192 773, K2 W'Y,
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the same dispute that is between 1'% and @''9, namely whether 71072 can be 191
0°1¥ or it must be AWLW *192

- WPY YWY 22)Y INY 299 DY 193 (x5 91 mnan XIIND YA 7909 Na9)
And X217 ruled in the beginning of 79, 217 that in the entire 0" we

follow the opinion of "' when he opposes %'
- NN 93Y

Except in three disputes where we follow the opinion of *>" -
- 1M 395 SN 13NN %39)

And >'"1 follows the opinion of 1'% that two are sufficient for vx7 20°2. X271 must
therefore also agree that two are sufficient (since &27 always follows the opinion of *").
However X297 maintains that 17 27°°7 PX 170 2°1w. Therefore we cannot say that the
reason that 0°1w 192 19027 is because we maintain that 17 077°1°7 127w 2°IW.

mooIn will bring a more direct proof that we cannot connect the 1°7 of 021w *192 17021 with
the 17 of 17 217 1TV DIW.
= 979199 YININRT YWIPY W 1IN 239 1P9TNI0T 295U 9N MY

And furthermore in the 25219 7120 on 17730 Noon it says that both
“'"1 and Y'' maintain that —

- 151 D193 PN NTY DNIY
Two people who judged, their verdict is not valid. We see from this nbw1
that *"9 himself maintains 17 077°2°7 PX 127w 2°1w. Nevertheless he maintains that °192 71002
2w like 1.

Mmoo offers an additional proof that °"7 maintains that a 7"°2 consists of three:
- 1192 2559 VAYN NYIY TH98 93 1IN 529 9N ) (3,11 97 ow) \IINNY

And in y9177 P19 also, ' said that conversion requires three people to
officiate, that the nm17°) be valid. The reason 1s because the word wsw? is

written by conversion. Just as a usual vdWn or court case requires three, so too does
conversion require three. We can infer from this that by every vawn that requires a 7"2,
three are required. The question remains why does (3"7 and especially) >"9 maintain that
for the 72 °192 9 10°3, two are sufficient, when the m1wn states clearly "7"2'!

N1B0IN answers:
= 17 D17 PN IINT 2) JY GR 1Y PPN THD b

And perforce one must say that even though the judgment of two is not
valid, nevertheless -

? Needless to say this is not one of those three N7
2
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= 127 120D 299 2992 M0 MANI9T 1’D
Since to enact a 9121178 two are sufficient they can be called a *7'"92. When
the mawn said 72 °192 it may mean two as well.

mooIn asks a question:
= RPN 22) 72997 (x5 parmv) 9992 DT 2992 9NN ON)

And if you will say; that in 9712 577 292 where the X2 asks concerning a

writ of admission. [Only] two people signed on the note wherein it was stated that
one party made a specific admission to his litigant*. If the term 7 n»2 is mentioned in the
writ, we assume that it was enacted by three people and one was not able to sign. The
X3 challenges this. The fact that it said '7"2' in the Xn 7 is not sufficient to prove that
it was prepared by three people, for —

= 9915 1TV DY 9INRT HNNYTI I8N 17 593 XNDY
Perhaps it was a brazen 7''72 as ®X»® maintains for YXW said that two

who judged, etc. their verdict is valid. Perhaps here too, even though it said '7"2' in
the Xn*7IX there were really only two people, nevertheless they wrote '7"2' since they may
agree with SXW that two are also a 7"2. However in reality there were no three people.
The &n>7X should not be valid. This concludes the quote from the X773 in °77710.

Mmoo now proceeds with his question:
= 799919 NN ) INMYW NYa
Without agreeing with YR that 17 07°2°7 17w 071w, we can also question
the assumption that since it said '7"°2" in the Xn 7 that proves that there were three 0’17
present -
= N9 2P 127 N2 59NV 2920 NP INMWT IND 17PD XA 1IN 229 NNY
For "1 and X2 disagree with ®X»w; they maintain that 2717 PX 1T 20w

77, and nevertheless they maintain that two may also be called a 7''92; as
is the case concerning 7"2 192 07 72 where both X271 and "1 agree that two are
sufficient, because they are (somewhat) considered a 7"°2. The X713 in 177710 could have
asked that how can we rely on the words '7"2' that is written in the Xn>7X, we see that "9
X271 agree that sometimes two are called a 7"2.”

? This is (seemingly) the explanation the X»3 gives. See ‘Thinking it over’ # 1.
* When one admits something in the presence of two witnesses it does not give them the right to put it in
writing. However when someone admits in the presence of three it is considered as if he made them a 7""2
and they may put it in writing and sign it. When a 7"»2 issues any writ it is signed by the three o°1°7. If for
whatever reason one of the 0°17 cannot sign, 7" writes that we were three 2°1°7 sitting in judgment and
one is missing. This is considered a valid writ. In the case being discussed this phrase did not appear.
> See “Thinking it over # 2.
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= (83997 NAINIT 72 P92 MIVY 0P 22 7299 N)I) RN I
And the X2 asks in a similar fashion concerning the authentication of

notes in the second P99 of N2> NODM. MMVw ovp requires three o°177. If only two
signed on a O1p without indicating that there were actually three 2°1»°7 involved, it is a
proper 21p provided that it states that it was performed in a 7"2. The X713 in M21N3 asks
the same question as the X723 in P77710; perhaps it was a 71¥17 7"°2 in accordance with
s™RMY view. MooIn is asking that the X3 did not need to ask the question only
according to YXmw; the same question can be asked according to X271 °"3 as mentioned
previously.

madIn answers:
= MIHIVY DPPIY RNIND NYIY 19IP2T 1190 ONNT 9D YN

And one can say; that over there (by nvw avrp1 Xn°TIX), since there is a
requirement to have a 721 of three 0°1>7 both by the Xn>7X and by 2a1p
DM VR; there is no doubt about it, all agree that there must be a 7"2 of three. Therefore —

= 197 5’2 5909 MIPY XN NIND 2D 79V PN
It is not relevant concerning these matters (MIvw ovp1 X°NTIX) to
consider only two as a 7''53; if we maintain that 17 27°°7 1PX 127w 2°2w. It is known
that MVY 2PY XNPTIX require a 7"2 of three. The fact that we consider two a 7"2 by
212179 or vt w2 will not lead anyone to think that by mavw arp or X TR two are
sufficient. By 912115 and v 910°2 there is no clear precedent that requires specifically
that there be three. It is not a vo9wn or 7. Therefore we may maintain that in these two
cases, two are sufficient. However, Xn>7W) mnvww avp require a regular 7323, which
consists (according to X271 °") of three -

- ININVYTI /) NN YA NI NNIYT 9INRP 95D DIVN
Therefore the X713 there says perhaps the two who signed the nmww
thought that three are not required even for Xn>71X1 01°p because of »Rmw,
who maintains that two is a valid 7"2 in all instances. Therefore these two thought that
even though NMvw 0P XNPTIX require a 7"°3, nevertheless the two are a 7"2. Therefore
we cannot depend on the fact that the term '7"2' is inserted; because perhaps the people
who inserted the term '7"2' agree with Xmw. However in truth one cannot validate such a
RN°TIX W or 2P VW, since there were no three 0°177.

mooIn poses a different question:
= Y9021 N5 2392 NYY 29 1IN 397 XNNJO2 XNYN N3 RPOI NI 9NN ON)

And if you will say; of what import is it now concerning the dispute

between 1" and @''1 in the presence of how many can he nullify the vx. It
is seemingly irrelevant (even) in the days of w"911"1 —

4

TosfosInEnglish.com



1M1 277 77 '0n 2,25 PrUa 702

= 19 )PWIY 1N NIV INIDNI)N 139 170 NN
For »'"1 had already instituted prior to w" 1"7 that people should not do
S0; to be 7"2 4192 Yvan. What is the relevance of the dispute between "1 1"1?

mooIn responds:
= 9192 15V2 ON JIPY INT 239D N NPT PN 13929 9N

And the 5''1 says there is a difference whether we follow the opinion of 1"
or v"A, according to °37 who maintains later in our °xn that if one was

buan a 73 192 i the 17 is that the v3 is nullified’. Despite that he transgressed
the 73pn of 1P a™.

= PN 1IN 29 MIPY PO
And 1" ruled further in our *x73 in accordance with *21 that Ymian v,
Therefore it is very relevant to know, in front of how many people the 71°2 must take
place, in order that it be a valid (72y>72) 210°2.

It seems that there were three stages in a1 72, There is the Xn»7X7» 17 where
seemingly one may be 5021 a i even 7™32 *192 Xow and *mbwm AWK 192 X9w. This was
the first stage.

Afterwards came the stage concerning which the mawn states that 7"2 Aww 7o AWK
"9uam ANk P2, The 7102 had to take place in the presence of a 7"°2 or 7w AWK °192.
This was a 231 nIpn (prior to the 73pn of 3171 2"). They were concerned that if the 211°2
would be 7"2 °1921 K7W, the woman might not be aware and remarry. Her children from
the new husband would then be o>7mn. It is concerning this stage (also) that there is the
nponn between W' 1" whether this 72 consists of two or three people.

The final stage was the mIpn of 3177 2" that there be no 7"°2 °192 713, only AWK °192
mowm. There are two opinions as to the reason for this 7pn, depending whether we
follow the view of 1" or w". If we maintain that the 7"2 °192 710°2 was 271w 192 (like
1"7), the concern was that there will not be sufficient publicity and the woman may
remarry and her children will be 0°7mn (identical to the reason for the original nipn
o'nan). If, however we follow the opinion of @' that 7" °192 910°2 requires three people,
then there is no M »n wwn for by three there is a sufficient 21p. The reason for 2" nipn
1717, is because of Ny ni1pn. We want to make it difficult for the husband to be Hvan the
v3. He cannot be van by just gathering three people and make a 7"2. He must pursue
either the %W or the 7wX and be Pvan it 0102

R SvEL
7 See “Thinking it over # 3.
¥ 19102 2,35 7.
? It is questionable if he may be van the va by himself or others have to hear him. In any event it need not
be a 7"*2°191 according to 770 7. See "1 TR KW,
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It is concerning this last stage that *27 maintains that regardless of 777 2"9 nipn not to be
Svan a 72°nn27 720192 LA, nevertheless if one was Pvan a 72 °192 vA then 72v°72 the VA is
o1,

mooIn continues to explain that even though 27 does not take into consideration 72y>72
the 73PN of P17 3" and maintains 20127 1903, nevertheless concerning the first 2°mom nNIpn
that WK 75w *192 KW 7122 must take place 7" °193, that 71PN invalidates the 9002
7"v2°192 ROW even 7av°72:
= D113 9NT JINI 299 199N THN 2293 IN NYY 29D /3 9393 151V ONT 229 NI
And 427 will admit that if he was “wa» the v in the presence of two
people according to w'"- or in the presence of one person even'
according to 1'"9; either way °21 will admit that the 03 is not »van. Even
though we do not take the m1pn of 3™ into consideration 72v°72 if there was a 73, but
rather we maintain that 50121 1912, Nevertheless *27 admits there is no 2102 if there was
no 7™3, for this uproots the original a°»on nipn. The reason why it is not %1121 in these
instances, is —
= HVIAN NN RY HNIDMN) 129 MPH ONP 1PPaNT
For even before the 7pn of 3''9; when a 7"°2 *192 711°2 was permitted, even
though it was not 2w °192 or WK °193, nevertheless the v would not be
Buan (if there were less than two or three people according to w"1 1" respectively),
even according to 27, who disregards the mpn of 7272 3™, and says Svian 1wl
However in these cases the consequences are too dire and even 72¥>72 there is no 10°3; as
mooIN goes on to explain.

- Yoyatan wwn X9%9T 50N NYY 295 /) 9393 NPITT
For only in the presence of three will 27 maintain according to @''n that

the 03 is v1an for there is no concern of N1"tAnR -
= N9 79119175 UNIY NIINT DY 93 YaN

Howevern if the 711°2 took place in the presence of only two (which is not
a 7"2), where there is not sufficient publicity, so there is a concern of
nytan (which is the reason for the original o°»5m nipn that a °192 X5W 7002

10 The insertion of the word "2’ — ‘even’, by 1" will become clear further in this n1vo1n. See footnote #
12.

' When we are 5van the wSw *193 03 even though it was not m°5wm WK °193, nevertheless we are assured
that the woman will find out about the 910°2 and she will not remarry (which would have resulted that the
new children are o ). There is sufficient publicity in a qw>w 192 203, that there is no concern of
mmn. There is only the may nipn. It is the opinion of "2 that the My nIpn is not sufficient reason to
annul the 72v>72 D172, Since 71707 17 it is a valid 9.
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mhwm TwRn take place 72 °192), then °27 agrees that the 210°2 will not be
valid according to w"1. The concern here is sufficient to warrant that we do not validate
the 91v°2. The original 1"pn holds up even 72v°72.

mdoIN anticipates a difficulty:

= TINDA 1IPIINRTI MIMND YWNINIY RIIN DY %937 2) DY 9N 19N 299
And according to 1'"9 even though that when the 7112 takes place in the
presence of two there is a concern of nmmn, as the X723 will shortly
state'? (for there is not sufficient publicity to assure us that the woman will be aware of
the 10°2 before she remarries), nevertheless 1" maintains that even though there is a wwn
mamn by a 02w °192 Y003, it will still be a valid 910°3, according to °27. Why therefore
should not a o w»n Mnda 72 also suffice? *27 maintains (according to jam 27) that a
W 2w 7M1 192 7w is a good T2y°72 M2, We do not take into consideration 71y>73,
that there is a maman wwi. It follows that even if the 710°2 was °1wn nno2 which the first
o°non nipn did not permit, nevertheless 72¥°72 it should be a valid %1v*2. What concern is
there by a @wn MNda 912 more than a 22w 192 910222 Why should the first o°man napn
be any stronger than the 730 of 1177 3"17? In both instances the 73pn was (according to 1)
because of " wwn.

mooIn responds:
= D121 1IN 29V YNMIY NIINT DIYN NN DIPN Yon

Nevertheless when the 912 takes place in the presence of less that two
people that there is an even greater concern for m1m» than a °192 "]
0°1w, which definitely has more publicity than a 2°1wn nno2 210°3; then there

is no valid 992, There is a much greater probability that the woman will not hear of
the 71072 if it was 2°3wn nInd2 that if it was 2°3w °192.
$119% 17 %2 N N1 1I29INT NI 29 ITP9N NN

And it this case even 29 admits that we say we cannot override the 71pn of
7"2; for if we will override the 7170 of the 72y°72 %01 then — of what value

is the power of 7''93, if they cannot execute their Npn. In a case where overriding
the 7m1pn of 72 will probably bring to dire consequences °27 admits that we do not
override the 71pn even 723°72.

SUMMARY
The reason 1"1 maintains 7"%2 %192 1°2 of two is sufficient is not because he

12 %,3 q7. The reason why 3" was 5van the 7"°2 *192 9172 according to 1" *", is because it was done in the
presence of two. That is insufficient publicity to prevent the woman from remarrying.
" This question clarifies why maow1n previously said 3"77 12'0X'. See footnote # 10.
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maintains 77 27°17 117w 2°1w. For 117 "1 X271 both agree with 1" concerning
07w W 7"°2 °192 1702 even though they maintain 7 07°2°7 PR 117w 22w, The
reason 1"1 maintains D°3w °192 702 is sufficient is because by a 1AM two
are also considered a 7"2.

Even if we maintain that by a 9121179 and v 910°2 two are considered a 73,
this would not lead us to conclude mistakenly that by n1vw o1p1 RNP7TIX two
are sufficient. However if we maintain 77 27°17 17w 2°1w, then we may
mistakenly conclude that by mAvw 01p1 Rn°7IX two are sufficient.

»27 will maintain 20121 Y902 only if it was in a 7"2 of two (according to 1")
or in a 7"2 of three (according to w"9). Less than that, it will not be a 210°2
even 72y°72. The 71PN that a 72 was necessary was based on very serious
concern of MAmn. Such a 71PN is not to be trifled with.

THINKING IT OVER

1. m»ooIn is searching for an explanation why 1"7 maintains 22w 192 7102 is
a 7"2 °192 M. The answer that Mo0IN ultimately gives is (seemingly) the
same answer the X713 gives (namely ?121179)'*. Why was not msoin satisfied
with this answer originally?

2. Can we connect M50 question'> with what moIn taught us previously in
this ndOIN?

3. Did not m»ooIn realize in the question16 that 27 maintains 0121 1903, so
there will be a n"po1 between "7 1"7 according to 3277

4 See Footnote # 3.
15 See Footnote # 5.
16 See footnote # 7.
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